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[E5IET 5D TIEFAL AMIERICTESIZZITHhE TWEET,
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cu

PAM B SRR =R ERBEME +QEENRAREM

=mEDEE

A 2.97|F/kWh

HAEEDEE

A 2.89|F/kWh

(1) BRE B Bl = (R EHMlAE —37,200M) x HAEBH 1,000 =
20249 ~2024FE 11 A D E S sHmE

EBEDSE

2.97

BABEDNSE

2.89

A: 1KY O FH R im g 74,604 M 0.4699
B: 1t&H =Y DT HLNGIEE 92,316 M 0.0000
C: 1tdp1=Y DFEH A ERMHE 22,686 M Y 0.7879
FEHRRFMER = Axa +BxB +VXy =52900M  (100AXREMEERA)

(2) HENFAREM=A<BDIGE. HE HFABEM=(A—B)x50% x 1 +H&HRE) =

A>COIGE . BIENRABEM=(A—C)x50%x (1 +HEHFE) =

A: BIADINT7ISARAEHIE (Fitk) 14.27
B: ETIABEEEMFRiR) 8.00
C: BhNZFEEEE M (Fiik) 18.00

F/kWh
FM/kWh

[SE=-%:3--Xii

0.189 M

Fral e EELEE

0.184 M

0.00

0.00

F/kWh
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PAM B SRR =R ERBEME +QEENRAREM

=mEDEE

A 4.05|M/kWh

HAEEDEE

A 3.91|F/kWh

(1) PR¥ B BBl = (R EHMlAE —31,400M) x EAEBEH 1,000 =
20249 ~2024FE 11 A D E S sHmE

EBEDSE

4.05

BABEDNSE

3.91

A: 1KY O FH R im g 74,604 M 0.1152
B: 1t&H =Y DT HLNGIEE 92,316 M 0.2714
C: 1tdp1=Y DFEH A ERMHE 22,686 M Y 0.7386
FEHRRFMER = Axa +BXx B +VXy =50400H  (100AREMEERA)

(2) HENFAREM=A<BDIGE. HE HFABEM=(A—B)x50% x 1 +H&HRE) =

A>COIGE . BIENRABEM=(A—C)x50%x (1 +HEHFE) =

A: BIADINT7ISARAEHIE (Fitk) 13.65
B: ETIABEEEMFRiR) 7.00
C: BhNZFEEEE M (Fiik) 14.00

F/kWh
FM/kWh

[SE=-%:3--Xii

0213 M

Fral e EELEE

0.206 M

0.00

0.00

F/kWh
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PAM B SRR =R ERBEME +QEENRAREM

=mEDEE

A 3.83|/kWh

HAEEDEE

A 3.78|/kWh

(1) PR¥ B BBl = (R EHlAE —44,200M) x EEEBH 1,000 =
20249 ~2024FE 11 A D E S sHmE

EBEDSE

3.83

BABEDNSE

3.78

A: 1KY O FH R im g 74,604 M 0.1970
B: 1t&H =Y DT HLNGIEE 92,316 M 0.4435
C: 1tdp1=Y DFEH A ERMHE 22,686 M Y 0.2512
FEHRRFMER = Axa +BxB +VXy =61,300 F  (100AKREMEERA)

(2) HENFAREM=A<BDIGE. HE HFABEM=(A—B)x50% x 1 +H&HRE) =

A>COIGE . BIENRABEM=(A—C)x50%x (1 +HEHFE) =

A: BIADINT7ISARAEHIE (Fitk) 13.75
B: ETIABEEEMFRiR) 7.00
C: BhNZFEEEE M (Fiik) 14.00

F/kWh
FM/kWh

[SE=-%:3--Xii

0.224 M

Fral e EELEE

0.221 M

0.00

0.00

F/kWh
FM/kWh
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[E5IET 5D TIEFAL AMIERICTESIZZITHhE TWEET,
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cu

PAM B SRR =R ERBEME +QEENRAREM

=mEDEE

A 2.52|/kWh

HAEEDEE

A 2.49|F/kWh

(1) PR¥ B S BBl = (SR EHlAE —45,900) x EAEBH 1,000 =
20249 ~2024FE 11 A D E S sHmE

EBEDSE

2.25

BABEDNSE

2.22

A: 1KY O FH R im g 74,604 M 0.0275
B: 1t&H =Y DT HLNGIEE 92,316 M 0.4792
C: 1tH1=Y DA Fifhite 22,686 M Y 0.4275
FEHRRFMER = Axa +BxB +VXy =56000M  (100AXREMEERA)

(2) HENFAREM=A<BDIGE. HE HFABEM=(A—B)x50% x 1 +H&HRE) =

A>COIGE . BIENRABEM=(A—C)x50%x (1 +HEHFE) =

A: BIADINT7ISARAEHIE (Fitk) 13.49
B: ETIABEEEMFRiR) 5.00
C: BhNZFEEEE M (Fiik) 13.00

F/kWh
FM/kWh

[SE=-%:3--Xii

0.223 M

Fral e EELEE

0.220 M

0.00

0.27

F/kWh
FM/kWh
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[E5IET 5D TIEFAL AMIERICTESIZZITHhE TWEET,
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cu

PAM B SRR =R ERBEME +QEENRAREM

=mEDEE

A 3.22|M/kWh

HAEEDEE

A 3.18|/kWh

(1) PR B Bl = (R EHMEAE —21,900M) x HAEE{H 1,000 =
20249 ~2024FE 11 A D E S sHmE

EBEDSE

3.22

BABEDNSE

3.18

A: 1KY O FH R im g 74,604 M 0.2303
B: 1t&H =Y DT HLNGIEE 92,316 M 0.0000
C: 1tH1=Y DA Fifhite 22,686 M Y 1.1441
FEHRFMERE = Axa +BXxB +VXy =43100F  (100AKREMEERA)

(2) HENFAREM=A<BDIGE. HE HFABEM=(A—B)x50% x 1 +H&HRE) =

A>COIGE . BIENRABEM=(A—C)x50%x (1 +HEHFE) =

A: BIADINT7ISARAEHIE (Fitk) 11.72
B: ETIABEEEMFRiR) 5.00
C: BhNZFEEEE M (Fiik) 13.00

F/kWh
FM/kWh

[SE=-%:3--Xii

0.152 M

Fral e EELEE

0.150 M

0.00

0.00

F/kWh
FM/kWh
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PAM B SRR =R ERBEME +QEENRAREM

=mEDEE

A 3.56|/kWh

HAEEDEE

A 3.51|/kWh

(1) PR BBl = (R EHMEAE —27,100M) x HEEEH 1,000 =
20249 ~2024FE 11 A D E S sHmE

EBEDSE

3.56

BABEDNSE

3.51

A: 1KY O FH R im g 74,604 M 0.0140
B: 1t&H =Y DT HLNGIEE 92,316 M 0.3483
C: 1tdp1=Y DFEH A ERMHE 22,686 M Y 0.7227
FEHRRFMERE = Axa +BXxB +VXy = 49600  (100AKREMERA)

(2) HENFAREM=A<BDIGE. HE HFABEM=(A—B)x50% x 1 +H&HRE) =

A>COIGE . BIENRABEM=(A—C)x50%x (1 +HEHFE) =

A: BIADINT7ISARAEHIE (Fitk) 11.61
B: ETIABEEEMFRiR) 5.00
C: BhNZFEEEE M (Fiik) 13.00

F/kWh
FM/kWh

[SE=-%:3--Xii

0.158 M

Fral e EELEE

0.156 M

0.00

0.00

F/kWh
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cu

PAM B SRR =R ERBEME +QEENRAREM

=mEDEE

A 4.66|M/kWh

HAEEDEE

A 452|M/kWh

(1) PR¥ B S BBl = (S EHMliAE —26,000) x EAEBH 1,000 =
20249 ~2024FE 11 A D E S sHmE

EBEDSE

4.66

BABEDNSE

4.52

A: 1KY O FH R im g 74,604 M 0.1543
B: 1t&H =Y DT HLNGIEE 92,316 M 0.1322
C: 1tdp1=Y DFEH A ERMHE 22,686 M Y 0.9761
FEHRFMER = Axa +BXxB +VXy =450  (100AKEMEERA)

(2) HENFAREM=A<BDIGE. HE HFABEM=(A—B)x50% x 1 +H&HRE) =

A>COIGE . BIENRABEM=(A—C)x50%x (1 +HEHFE) =

A: BIADINT7ISARAEHIE (Fitk) 11.51
B: ETIABEEEMFRiR) 5.00
C: BhNZFEEEE M (Fiik) 13.00

F/kWh
FM/kWh

[SE=-%:3--Xii

0.234 M

Fral e EELEE

0.227 M

0.00

0.00

F/kWh
FM/kWh
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[E5IET 5D TIEFAL AMIERICTESIZZITHhE TWEET,

anj
cu

PAM B SRR =R ERBEME +QEENRAREM

=mEDEE

A 3.52|/kWh

HAEEDEE

A 3.42|M/kWh

(1) PR¥ B S BBl = (S EHMliAE —26,000) x EAEBH 1,000 =
20249 ~2024FE 11 A D E S sHmE

EBEDSE

3.52

BABEDNSE

3.42

A: 1KY O FH R im g 74,604 M 0.2104
B: 1t&H =Y DT HLNGIEE 92,316 M 0.0541
C: 1tdp1=Y DFEH A ERMHE 22,686 M Y 1.0588
FEHRRFMERE = Axa +BXB +VXy =44700F  (100AXREMEERA)

(2) HENFAREM=A<BDIGE. HE HFABEM=(A—B)x50% x 1 +H&HRE) =

A>COIGE . BIENRABEM=(A—C)x50%x (1 +HEHFE) =

A: BIADINT7ISARAEHIE (Fitk) 9.51
B: ETIABEEEMFRiR) 5.00
C: BhNZFEEEE M (Fiik) 13.00

F/kWh
FM/kWh

[SE=-%:3--Xii

0.188 M

Fral e EELEE

0.183 M

0.00

0.00

F/kWh
FM/kWh
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[E5IET 5D TIEFAL AMIERICTESIZZITHhE TWEET,

anj
cu

PAM B SRR =R ERBEME +QEENRAREM

=mEDEE

A 1.90|M/kWh

HAEEDEE

A 1.87|M/kWh

(1) PRE B Bl = (R EHEAE —27,400M) x EEEEH 1,000 =
20249 ~2024FE 11 A D E S sHmE

EBEDSE

1.90

BABEDNSE

1.87

A: 1KY O FH R im g 74,604 M 0.0053
B: 1t&H =Y DT HLNGIEE 92,316 M 0.1861
C: 1tdp1=Y DFEH A ERMHE 22,686 M Y 1.0757
FEHRFMER = Axa +BXxB +VXy =42000H  (100AXREMEERA)

(2) HENFAREM=A<BDIGE. HE HFABEM=(A—B)x50% x 1 +H&HRE) =

A>COIGE . BIENRABEM=(A—C)x50%x (1 +HEHFE) =

A: BIADINT7ISARAEHIE (Fitk) 11.01
B: ETIABEEEMFRiR) 5.00
C: BhNZFEEEE M (Fiik) 13.00

F/kWh
FM/kWh

[SE=-%:3--Xii

0.130 M

Fral e EELEE

0.128 M

0.00

0.00

F/kWh
FM/kWh
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